
 

1. Find force acting on a point charge q on z axis due to a ring of charge of radius 
a carrying uniform line charge density 𝜌𝑙  

 
A. 𝒂 ∗ 𝒛/(𝟐 𝝅 (𝒛^𝟐 + 𝒂^𝟐)^(𝟑/𝟐)) 𝒂𝒛 
B. 𝑎 ∗ 𝑧/(2 𝜋 (𝑧^2 + 𝑎^2)^(3/2)) 𝑎𝑦 

C. 1/(2 𝜋 (𝑧^2 + 𝑎^2)^(3/2)) 𝑎𝑧 
D. 1/(2 𝜋 (𝑧^2 + 𝑎^2)^(3/2)) 𝑎𝑦 

 
 

 

2. One of the following complex power loads has a lagging power factor: 
 
A. 𝑺𝑳 = 𝟏𝟎 𝑴𝑾 + 𝒋 𝟓 𝑴𝒗𝒂𝒓. 
B. 𝑺𝐿 = 10 𝑀𝑊 − 𝑗 5 𝑀𝑣𝑎𝑟 
C. 𝑺𝐿 =     0 𝑀𝑊 − 𝑗 5 𝑀𝑣𝑎𝑟 
D. 𝑺𝐿 =  10 𝑀𝑊 + 𝑗 0 𝑀𝑣𝑎𝑟 

 
3. Two resistors R1 = 6 Ω and R2 = 12 Ω are connected in parallel to each other and 

in series to R3 = 2 Ω. An ammeter measures an electric current of 3 A flowing 
though resistor R3. What is the current in 12 Ω resistor? 

 
A. 6 A 
B. 1 A 
C. 3 A 
D. 5 A 

 


